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Index: 0, Unicode:

Nodes: 323, Contours: 2
BBox: (0, 0) - (2790, 297)
LSB: 0, RSB: 12, Width: 2802
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Index: 2, Unicode: 0063
Nodes: 333, Contours: 11
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: -2, Width: 2798
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Index: 4, Unicode: 0065
Nodes: 273, Contours: 9

BBox: (0, 0) - (2800, 301)

LSB: 0, RSB: -2, Width: 2798
Ish: 1158, rsh: 1156, width: 484
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Index: 6, Unicode: 0067
Nodes: 384, Contours: 10
BBox: (0, 0) - (2800, 236)
LSB: 0, RSB: 6, Width: 2806
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Index: 8, Unicode: 0069
Nodes: 180, Contours: 1
BBox: (0, 0) - (2800, 344)
LSB: 0, RSB: 2, Width: 2802
Ish: 156, rsb: 159, width: 2487
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Index: 10, Unicode: 006B
Nodes: 194, Contours: 12
BBox: (0, 0) - (2800, 496)

LSB: 0, RSB: -2, Width: 2798
Ish: 1331, rsh: 1334, width: 133
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Index: 12, Unicode: 006D
Nodes: 202, Contours: 10
BBox: (0, 0) - (2800, 495)
LSB: 0, RSB: -2, Width: 2798
Ish: 780, rsb: 778, width: 1240
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Index: 14, Unicode: 006F
Nodes: 320, Contours: 12
BBox: (0, 0) - (2800, 328)
LSB: 0, RSB: -2, Width: 2798
Isb: 600, rsb: 599, width: 1599

q

Index: 16, Unicode: 0071
Nodes: 395, Contours: 13
BBox: (0, 0) - (2800, 444)
LSB: 0, RSB: 6, Width: 2806
Ish: 267, rsh: 272, width: 2267
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Index: 18, Unicode: 0073
Nodes: 376, Contours: 12
BBox: (0, 0) - (2800, 508)
LSB: 0, RSB: 2, Width: 2802
Ish: 65, rsb: 67, width: 2670
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Index: 20, Unicode: 0075
Nodes: 441, Contours: 16
BBox: (0, 0) - (2800, 236)
LSB: 0, RSB: 10, Width: 2810
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Index: 22, Unicode: 0077
Nodes: 352, Contours: 1
BBox: (0, 0) - (2800, 394)
LSB: 0, RSB: 6, Width: 2806
Ish: 1, rsb: 7, width: 2798
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Index: 24, Unicode: 0079
Nodes: 349, Contours: 9
BBox: (0, 0) - (2800, 394)
LSB: 0, RSB: 6, Width: 2806
Ish: 948, rsbh: 946, width: 912
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Index: 1, Unicode: 0062
Nodes: 175, Contours: 4
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: 2, Width: 2802
Ish: 822, rsh: 805, width: 1175
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Index: 3, Unicode: 0064
Nodes: 347, Contours: 6
BBox: (0, 0) - (2800, 305)
LSB: 0, RSB: -2, Width: 2798
Isb: 1359, rsb: 1344, width: 95
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Index: 5, Unicode: 0066
Nodes: 276, Contours: 7
BBox: (0, 0) - (2796, 392)
LSB: 0, RSB: 10, Width: 2806
Ish: 782, rsh: 801, width: 1223
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Index: 7, Unicode: 0068
Nodes: 243, Contours: 6
BBox: (0, 0) - (2792, 296)
LSB: 0, RSB: 6, Width: 2798
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Index: 9, Unicode: 006A
Nodes: 186, Contours: 10
BBox: (0, 0) - (2788, 256)
LSB: 0, RSB: 14, Width: 2802
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Index: 11, Unicode: 006C
Nodes: 240, Contours: 2
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: 2, Width: 2802

n

Index: 13, Unicode: 006E
Nodes: 205, Contours: 5
BBox: (0, 0) - (2800, 388)
LSB: 0, RSB: -2, Width: 2798
Ish: 451, rsh: 453, width: 1894
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Index: 15, Unicode: 0070
Nodes: 212, Contours: 9
BBox: (0, 0) - (2800, 444)
LSB: 0, RSB: 2, Width: 2802
Ish: 481, rsh: 481, width: 1840
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Index: 17, Unicode: 0072
Nodes: 480, Contours: 10
BBox: (0, 0) - (2800, 394)
LSB: 0, RSB: -6, Width: 2794
Isb: 338, rsh: 327, width: 2129
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Index: 19, Unicode: 0074
Nodes: 202, Contours: 4
BBox: (0, 0) - (2800, 224)
LSB: 0, RSB: -2, Width: 2798
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Index: 21, Unicode: 0076
Nodes: 261, Contours: 6
BBox: (0, 0) - (2800, 297)
LSB: 0, RSB: 2, Width: 2802
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Index: 23, Unicode: 0078
Nodes: 323, Contours: 4
BBox: (0, 0) - (2800, 398)
LSB: 0, RSB: 2, Width: 2802
Isb: 534, rsh: 533, width: 1735
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Index: 25, Unicode: 007A
Nodes: 230, Contours: 3
BBox: (0, 0) - (2800, 312)
LSB: 0, RSB: -2, Width: 2798
Ish: 782, rsh: 785, width: 1231



